

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A001

Name Aateka Taroo Mohammed Ayazoddin Inamdar

Campus ID 29586

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	128							200	128	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	80	60	40	30	11	10	10	200	141	
Kriya Sharira	Theory	200	93							200	93	Fail
	Practicals	100	65	70	35	30	10			200	110	
Rachana Sharira	Theory	200	82							200	82	Fail
	Practicals	100	62	70	43	30	10			200	115	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	53	15	5	10	10	100	68	
GRAND TOTAL										1700	951	Fail

Total Marks Scored (in words): NINE HUNDRED FIFTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A002

Name Affan Tilgul

Campus ID 33316

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	57							200	57	Fail
			75		15	2	10	10	100	12	
Padartha Vijnanam (Set- FB)	200	0							200	0	Fail
	100		60		30	2	10	10	200	12	
Kriya Sharira	200	62							200	62	Fail
	100	51	70	35	30	4			200	90	
Rachana Sharira	200	64							200	64	Fail
	100	60	70	40	30	2			200	102	
Samhita Adhyayan - I (Set-FC)	100	13							100	13	Fail
			75	40	15	1	10	10	100	51	
GRAND TOTAL									1700	463	Fail

Total Marks Scored (in words): FOUR HUNDRED SIXTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A003

Name Ashique Raja

Campus ID 29678

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	105							200	105	Pass
	Practicals	100	65	60	50	30	9	10	10	200	134	
Kriya Sharira	Theory	200	82							200	82	Fail
	Practicals	100	63	70	38	30	8			200	109	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	60	70	40	30	9			200	109	
Samhita Adhyayan - I (Set-FC)	Theory	100	28							100	28	Fail
	Practicals			75	50	15	3	10	10	100	63	
GRAND TOTAL										1700	928	Fail

Total Marks Scored (in words): NINE HUNDRED TWENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A004

Name Asma Nooha Ayoob

Campus ID 32348

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	132							200	132	Pass
	Practicals	100	91	60	55	30	16	10	10	200	172	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	69	70	60	30	14			200	143	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	65	70	50	30	11			200	126	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	56	15	6	10	10	100	72	
GRAND TOTAL										1700	1114	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FOURTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A005

Name Attar Saziya Javed

Campus ID 29563

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	138							200	138	Pass
	100	78	75	60	15	8	10	10	100	78	
Padartha Vijnanam (Set- FB)	200	114							200	114	Pass
	100	160	60	52	30	13	10	10	200	160	
Kriya Sharira	200	89							200	89	Fail
	100	116	70	40	30	8			200	116	
Rachana Sharira	200	102							200	102	Pass
	100	119	70	45	30	12			200	119	
Samhita Adhyayan - I (Set-FC)	100	38							100	38	Fail
	100	69	75	54	15	5	10	10	100	69	
GRAND TOTAL									1700	1023	Fail

Total Marks Scored (in words): ONE THOUSAND TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A006

Name Ayesha Sana

Campus ID 29708

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	142							200	142	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	133							200	133	Pass
	Practicals	100	81	60	50	30	17	10	10	200	158	
Kriya Sharira	Theory	200	108							200	108	Pass
	Practicals	100	79	70	57	30	13			200	149	
Rachana Sharira	Theory	200	115							200	115	Pass
	Practicals	100	62	70	50	30	14			200	126	
Samhita Adhyayan - I (Set-FC)	Theory	100	59							100	59	Pass
	Practicals			75	60	15	5	10	10	100	75	
GRAND TOTAL										1700	1145	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A007

Name Badam Vishnu Vardhan Reddy

Campus ID 29680

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	130							200	130	Pass
	Practicals			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	140							200	140	Pass
	Practicals	100	71	60	50	30	16	10	10	200	147	
Kriya Sharira	Theory	200	138							200	138	Pass
	Practicals	100	73	70	57	30	15			200	145	
Rachana Sharira	Theory	200	127							200	127	Pass
	Practicals	100	70	70	60	30	15			200	145	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	60	15	7	10	10	100	77	
GRAND TOTAL										1700	1174	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A008

Name Bagwan Aseem Altab

Campus ID 29630

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	134							200	134	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	119							200	119	Pass
	Practicals	100	77	60	45	30	13	10	10	200	145	
Kriya Sharira	Theory	200	108							200	108	Pass
	Practicals	100	75	70	59	30	13			200	147	
Rachana Sharira	Theory	200	102							200	102	Pass
	Practicals	100	62	70	41	30	13			200	116	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	57	15	5	10	10	100	72	
GRAND TOTAL										1700	1060	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A009

Name Bhat Harshad Prithviraj

Campus ID 29487

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	113							200	113	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	109							200	109	Pass
	Practicals	100	65	60	50	30	11	10	10	200	136	
Kriya Sharira	Theory	200	103							200	103	Fail
	Practicals	100	50	70	35	30	8			200	93	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	60	70	40	30	9			200	109	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	62	15	3	10	10	100	75	
GRAND TOTAL										1700	952	Fail

Total Marks Scored (in words): NINE HUNDRED FIFTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A010

Name Chauhan Manisha Ramesh

Campus ID 32426

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	141							200	141	Pass
	Practicals			75	55	15	10	10	10	100	75	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	94	60	55	30	15	10	10	200	174	
Kriya Sharira	Theory	200	114							200	114	Pass
	Practicals	100	68	70	50	30	16			200	134	
Rachana Sharira	Theory	200	123							200	123	Pass
	Practicals	100	62	70	64	30	14			200	140	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	52	15	6	10	10	100	68	
GRAND TOTAL										1700	1150	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A011

Name Chavan Ashish Vijaykumar

Campus ID 29542

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	140							200	140	Pass
	Practicals			75	65	15	10	10	10	100	85	
Padartha Vijnanam (Set- FB)	Theory	200	135							200	135	Pass
	Practicals	100	84	60	52	30	17	10	10	200	163	
Kriya Sharira	Theory	200	115							200	115	Pass
	Practicals	100	75	70	60	30	15			200	150	
Rachana Sharira	Theory	200	117							200	117	Pass
	Practicals	100	60	70	50	30	14			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	62							100	62	Pass
	Practicals			75	54	15	7	10	10	100	71	
GRAND TOTAL										1700	1162	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A012

Name Chavan Poonam Sunil

Campus ID 33345

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	121							200	121	Pass
			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	76							200	76	Fail
	100	74	60	40	30	9	10	10	200	133	
Kriya Sharira	200	59							200	59	Fail
	100	68	70	40	30	9			200	117	
Rachana Sharira	200	70							200	70	Fail
	100	60	70	40	30	9			200	109	
Samhita Adhyayan - I (Set-FC)	100	28							100	28	Fail
			75	50	15	4	10	10	100	64	
GRAND TOTAL									1700	841	Fail

Total Marks Scored (in words): EIGHT HUNDRED FORTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A013

Name Chinmai Sri Vaishnavi Chaganti

Campus ID 32680

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	127							200	127	Pass
	Practicals			75	65	15	11	10	10	100	86	
Padartha Vijnanam (Set- FB)	Theory	200	138							200	138	Pass
	Practicals	100	88	60	57	30	16	10	10	200	171	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	70	70	54	30	16			200	140	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	70	70	50	30	14			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	64	15	6	10	10	100	80	
GRAND TOTAL										1700	1157	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A014

Name Dalvi Faheem Zafarulla

Campus ID 29602

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	126							200	126	Pass
	Practicals			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	68	60	50	30	10	10	8	200	136	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	76	70	62	30	10			200	148	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	60	70	41	30	9			200	110	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	64	15	5	10	4	100	73	
GRAND TOTAL										1700	1060	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A015

Name Dasa Rohit Ravindra

Campus ID 29617

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	142							200	142	Pass
	100	63	75	60	15	11	10	10	100	81	
Padartha Vijnanam (Set- FB)	200	123							200	123	Pass
	100	63	60	50	30	10	10	10	200	133	
Kriya Sharira	200	113							200	113	Pass
	100	68	70	51	30	14			200	133	
Rachana Sharira	200	103							200	103	Pass
	100	60	70	40	30	12			200	112	
Samhita Adhyayan - I (Set-FC)	100	61							100	61	Pass
			75	58	15	6	10	10	100	74	
GRAND TOTAL									1700	1075	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A016

Name Deepak Sharma

Campus ID 33313

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	119							200	119	Pass
			75	45	15	5	10	10	100	60	
Padartha Vijnanam (Set- FB)	200	100							200	100	Pass
	100	50	60	45	30	5	10	10	200	110	
Kriya Sharira	200	93							200	93	Fail
	100	50	70	35	30	4			200	89	
Rachana Sharira	200	92							200	92	Fail
	100	62	70	41	30	6			200	109	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	51	15	3	10	10	100	64	
GRAND TOTAL									1700	886	Fail

Total Marks Scored (in words): EIGHT HUNDRED EIGHTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A017

Name Devyani Kiran Lohey

Campus ID 32664

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
			75	55	15	10	10	10	100	75	
Padartha Vijnanam (Set- FB)	200	106							200	106	Pass
	100	68	60	45	30	11	10	10	200	134	
Kriya Sharira	200	100							200	100	Pass
	100	68	70	35	30	11			200	114	
Rachana Sharira	200	100							200	100	Pass
	100	60	70	40	30	8			200	108	
Samhita Adhyayan - I (Set-FC)	100	52							100	52	Pass
			75	58	15	4	10	10	100	72	
GRAND TOTAL									1700	995	Second Class

Total Marks Scored (in words): NINE HUNDRED NINETY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A018

Name Dhanavade Prathamesh Prakash

Campus ID 29572

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	139							200	139	Pass
	Practicals			75	55	15	9	10	10	100	74	
Padartha Vijnanam (Set- FB)	Theory	200	136							200	136	Pass
	Practicals	100	76	60	57	30	14	10	10	200	157	
Kriya Sharira	Theory	200	135							200	135	Pass
	Practicals	100	62	70	52	30	11			200	125	
Rachana Sharira	Theory	200	125							200	125	Pass
	Practicals	100	60	70	50	30	11			200	121	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	57	15	6	10	10	100	73	
GRAND TOTAL										1700	1150	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A020

Name Faisal Khan Afzal Khan Pathan

Campus ID 29610

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	113							200	113	Pass
	Practicals			75	55	15	9	10	10	100	74	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	86	60	45	30	12	10	10	200	153	
Kriya Sharira	Theory	200	91							200	91	Fail
	Practicals	100	62	70	40	30	12			200	114	
Rachana Sharira	Theory	200	77							200	77	Fail
	Practicals	100	50	70	51	30	9			200	110	
Samhita Adhyayan - I (Set-FC)	Theory	100	35							100	35	Fail
	Practicals			75	52	15	4	10	10	100	66	
GRAND TOTAL										1700	933	Fail

Total Marks Scored (in words): NINE HUNDRED THIRTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A021

Name Fathima Sahla KA

Campus ID 29717

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	149							200	149	Pass
			75	70	15	12	10	10	100	92	
Padartha Vijnanam (Set- FB)	200	154							200	154	Pass
	100	94	60	57	30	22	10	10	200	183	
Kriya Sharira	200	138							200	138	Pass
	100	78	70	63	30	19			200	160	
Rachana Sharira	200	119							200	119	Pass
	100	65	70	58	30	18			200	141	
Samhita Adhyayan - I (Set-FC)	100	71							100	71	Pass
			75	64	15	9	10	10	100	83	
GRAND TOTAL									1700	1290	Distinction

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED NINETY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A022

Name Fathima Thahifa

Campus ID 32512

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	140							200	140	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	116							200	116	Pass
	Practicals	100	67	60	50	30	14	10	10	200	141	
Kriya Sharira	Theory	200	102							200	102	Pass
	Practicals	100	72	70	60	30	14			200	146	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	60	70	40	30	13			200	113	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	60	15	5	10	10	100	75	
GRAND TOTAL										1700	1067	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A024

Name Gaikwad Vishwajeet Satish

Campus ID 29596

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	131							200	131	Pass
			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	113							200	113	Pass
	100	74	60	45	30	11	10	10	200	140	
Kriya Sharira	200	108							200	108	Pass
	100	70	70	46	30	12			200	128	
Rachana Sharira	200	101							200	101	Pass
	100	60	70	40	30	8			200	108	
Samhita Adhyayan - I (Set-FC)	100	62							100	62	Pass
			75	58	15	3	10	10	100	71	
GRAND TOTAL									1700	1025	Second Class

Total Marks Scored (in words): ONE THOUSAND TWENTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A025

Name Garud Asmita Vinayak

Campus ID 29619

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	143							200	143	Pass
			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	200	146							200	146	Pass
	100	85	60	55	30	24	10	10	200	174	
Kriya Sharira	200	139							200	139	Pass
	100	72	70	49	30	16			200	137	
Rachana Sharira	200	121							200	121	Pass
	100	66	70	60	30	18			200	144	
Samhita Adhyayan - I (Set-FC)	100	72							100	72	Pass
			75	65	15	8	10	10	100	83	
GRAND TOTAL									1700	1228	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A026

Name Habibur Rahman

Campus ID 29601

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	142							200	142	Pass
			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	120							200	120	Pass
	100	80	60	50	30	15	10	10	200	155	
Kriya Sharira	200	124							200	124	Pass
	100	77	70	63	30	13			200	153	
Rachana Sharira	200	114							200	114	Pass
	100	61	70	39	30	13			200	113	
Samhita Adhyayan - I (Set-FC)	100	58							100	58	Pass
			75	58	15	6	10	10	100	74	
GRAND TOTAL									1700	1116	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A027

Name Haleema Anfa

Campus ID 32197

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	144							200	144	Pass
	Practicals			75	45	15	10	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	130							200	130	Pass
	Practicals	100	82	60	52	30	15	10	10	200	159	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	60	70	50	30	15			200	125	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	62	70	52	30	12			200	126	
Samhita Adhyayan - I (Set-FC)	Theory	100	62							100	62	Pass
	Practicals			75	61	15	6	10	10	100	77	
GRAND TOTAL										1700	1120	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A028

Name Haleema Sadiya

Campus ID 29669

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	137							200	137	Pass
			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	136							200	136	Pass
	100	85	60	53	30	19	10	10	200	167	
Kriya Sharira	200	118							200	118	Pass
	100	72	70	59	30	11			200	142	
Rachana Sharira	200	126							200	126	Pass
	100	64	70	42	30	14			200	120	
Samhita Adhyayan - I (Set-FC)	100	65							100	65	Pass
			75	60	15	6	10	10	100	76	
GRAND TOTAL									1700	1151	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A029

Name Harishmidha A

Campus ID 32340

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	128							200	128	Pass
			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	200	118							200	118	Pass
	100	75	60	50	30	12	10	10	200	147	
Kriya Sharira	200	100							200	100	Pass
	100	72	70	55	30	11			200	138	
Rachana Sharira	200	115							200	115	Pass
	100	62	70	43	30	13			200	118	
Samhita Adhyayan - I (Set-FC)	100	62							100	62	Pass
			75	60	15	5	10	10	100	75	
GRAND TOTAL									1700	1070	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A030

Name Harshita

Campus ID 29606

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	122							200	122	Pass
			75	50	15	7	10	10	100	67	
Padartha Vijnanam (Set- FB)	200	108							200	108	Pass
	100	70	60	50	30	9	10	10	200	139	
Kriya Sharira	200	104							200	104	Pass
	100	68	70	47	30	9			200	124	
Rachana Sharira	200	100							200	100	Pass
	100	61	70	40	30	9			200	110	
Samhita Adhyayan - I (Set-FC)	100	57							100	57	Pass
			75	61	15	3	10	10	100	74	
GRAND TOTAL									1700	1005	Second Class

Total Marks Scored (in words): ONE THOUSAND FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A031

Name Jadhav Sushant Ravindra

Campus ID 33319

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	135							200	135	Pass
			75	48	15	9	10	10	100	67	
Padartha Vijnanam (Set- FB)	200	112							200	112	Pass
	100	62	60	55	30	11	10	10	200	138	
Kriya Sharira	200	102							200	102	Pass
	100	69	70	45	30	10			200	124	
Rachana Sharira	200	101							200	101	Pass
	100	60	70	40	30	10			200	110	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	59	15	4	10	10	100	73	
GRAND TOTAL									1700	1012	Second Class

Total Marks Scored (in words): ONE THOUSAND TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A032

Name Jagtap Pravartan Raja

Campus ID 32655

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	116							200	116	Pass
			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	73							200	73	Fail
	100	51	60	40	30	6	10	10	200	107	
Kriya Sharira	200	78							200	78	Fail
	100	50	70	35	30	7			200	92	
Rachana Sharira	200	51							200	51	Fail
	100	60	70	40	30	6			200	106	
Samhita Adhyayan - I (Set-FC)	100	14							100	14	Fail
			75	50	15	2	10	4	100	56	
GRAND TOTAL									1700	756	Fail

Total Marks Scored (in words): SEVEN HUNDRED FIFTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A033

Name Kabita Kumari

Campus ID 29695

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	131							200	131	Pass
			75	54	15	10	10	10	100	74	
Padartha Vijnanam (Set- FB)	200	127							200	127	Pass
	100	81	60	57	30	13	10	10	200	161	
Kriya Sharira	200	107							200	107	Pass
	100	67	70	47	30	14			200	128	
Rachana Sharira	200	109							200	109	Pass
	100	68	70	60	30	13			200	141	
Samhita Adhyayan - I (Set-FC)	100	54							100	54	Pass
			75	50	15	5	10	10	100	65	
GRAND TOTAL									1700	1097	Second Class

Total Marks Scored (in words): ONE THOUSAND NINETY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A034

Name Kadiyala Rishita Lakshmi

Campus ID 32324

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	136							200	136	Pass
			75	55	15	9	10	10	100	74	
Padartha Vijnanam (Set- FB)	200	93							200	93	Fail
	100	51	60	40	30	13	10	10	200	114	
Kriya Sharira	200	85							200	85	Fail
	100	66	70	42	30	10			200	118	
Rachana Sharira	200	63							200	63	Fail
	100	60	70	40	30	11			200	111	
Samhita Adhyayan - I (Set-FC)	100	27							100	27	Fail
			75	60	15	4	10	10	100	74	
GRAND TOTAL									1700	895	Fail

Total Marks Scored (in words): EIGHT HUNDRED NINETY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A035

Name Kasture Rasika Ramachandra

Campus ID 32645

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	136							200	136	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	129							200	129	Pass
	Practicals	100	78	60	55	30	17	10	10	200	160	
Kriya Sharira	Theory	200	123							200	123	Pass
	Practicals	100	70	70	55	30	13			200	138	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	62	70	46	30	13			200	121	
Samhita Adhyayan - I (Set-FC)	Theory	100	66							100	66	Pass
	Practicals			75	62	15	6	10	10	100	78	
GRAND TOTAL										1700	1132	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A036

Name Kedar Swami

Campus ID 29627

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	139							200	139	Pass
	Practicals			75	45	15	10	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	138							200	138	Pass
	Practicals	100	72	60	51	30	12	10	10	200	145	
Kriya Sharira	Theory	200	136							200	136	Pass
	Practicals	100	61	70	51	30	12			200	124	
Rachana Sharira	Theory	200	115							200	115	Pass
	Practicals	100	55	70	44	30	11			200	110	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	68	15	4	10	10	100	82	
GRAND TOTAL										1700	1110	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A037

Name Kedari Maithili Sudhir

Campus ID 29568

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	136							200	136	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	120							200	120	Pass
	Practicals	100	74	60	53	30	14	10	10	200	151	
Kriya Sharira	Theory	200	110							200	110	Pass
	Practicals	100	72	70	52	30	13			200	137	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	51	70	45	30	11			200	107	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	58	15	5	10	10	100	73	
GRAND TOTAL										1700	1061	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A038

Name Kharangate Sujal Girish

Campus ID 29649

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	147							200	147	Pass
			75	55	15	11	10	10	100	76	
Padartha Vijnanam (Set- FB)	200	129							200	129	Pass
	100	69	60	57	30	17	10	10	200	153	
Kriya Sharira	200	124							200	124	Pass
	100	71	70	58	30	16			200	145	
Rachana Sharira	200	101							200	101	Pass
	100	54	70	47	30	13			200	114	
Samhita Adhyayan - I (Set-FC)	100	63							100	63	Pass
			75	70	15	8	10	10	100	88	
GRAND TOTAL									1700	1140	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A039

Name Khathija Thameema

Campus ID 32501

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	149							200	149	Pass
			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	200	144							200	144	Pass
	100	82	60	57	30	20	10	10	200	169	
Kriya Sharira	200	128							200	128	Pass
	100	71	70	53	30	17			200	141	
Rachana Sharira	200	109							200	109	Pass
	100	52	70	55	30	17			200	124	
Samhita Adhyayan - I (Set-FC)	100	69							100	69	Pass
			75	71	15	9	10	10	100	90	
GRAND TOTAL									1700	1203	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A040

Name Kriti Kumari

Campus ID 32649

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	138							200	138	Pass
	Practicals			75	45	15	10	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	103							200	103	Pass
	Practicals	100	69	60	37	30	11	10	10	200	127	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	62	70	36	30	7			200	105	
Rachana Sharira	Theory	200	90							200	90	Fail
	Practicals	100	53	70	46	30	10			200	109	
Samhita Adhyayan - I (Set-FC)	Theory	100	41							100	41	Fail
	Practicals			75	52	15	4	10	10	100	66	
GRAND TOTAL										1700	944	Fail

Total Marks Scored (in words): NINE HUNDRED FORTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A041

Name Lalge Disha Dinesh

Campus ID 32394

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	131							200	131	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	53	60	40	30	12	10	10	200	115	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	60	70	37	30	10			200	107	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	50	70	45	30	12			200	107	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	62	15	4	10	10	100	76	
GRAND TOTAL										1700	966	Second Class

Total Marks Scored (in words): NINE HUNDRED SIXTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A042

Name Lawand Aishwarya Anil

Campus ID 32459

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	140							200	140	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	74	60	48	30	16	10	10	200	148	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	75	70	56	30	14			200	145	
Rachana Sharira	Theory	200	113							200	113	Pass
	Practicals	100	58	70	51	30	13			200	122	
Samhita Adhyayan - I (Set-FC)	Theory	100	62							100	62	Pass
	Practicals			75	69	15	6	10	10	100	85	
GRAND TOTAL										1700	1122	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A043

Name Layba Shikalgar

Campus ID 29558

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	146							200	146	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	75	60	49	30	15	10	10	200	149	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	63	70	36	30	13			200	112	
Rachana Sharira	Theory	200	102							200	102	Pass
	Practicals	100	52	70	54	30	14			200	120	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	62	15	6	10	10	100	78	
GRAND TOTAL										1700	1053	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A044

Name Makandar Shahnawaz Rashid

Campus ID 32353

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	121							200	121	Pass
	Practicals	100	78	60	57	30	11	10	10	200	156	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	65	70	46	30	10			200	121	
Rachana Sharira	Theory	200	108							200	108	Pass
	Practicals	100	58	70	48	30	11			200	117	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	60	15	5	10	10	100	75	
GRAND TOTAL										1700	1059	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A045

Name Marchant Ramijraja Imran

Campus ID 33308

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	119							200	119	Pass
	Practicals	100	66	60	50	30	11	10	10	200	137	
Kriya Sharira	Theory	200	115							200	115	Pass
	Practicals	100	64	70	38	30	11			200	113	
Rachana Sharira	Theory	200	107							200	107	Pass
	Practicals	100	50	70	53	30	10			200	113	
Samhita Adhyayan - I (Set-FC)	Theory	100	59							100	59	Pass
	Practicals			75	58	15	4	10	10	100	72	
GRAND TOTAL										1700	1032	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A046

Name Meenaz Shabbirahamed Savanur

Campus ID 29600

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	123							200	123	Pass
	Practicals	100	78	60	45	30	14	10	10	200	147	
Kriya Sharira	Theory	200	91							200	91	Fail
	Practicals	100	76	70	49	30	10			200	135	
Rachana Sharira	Theory	200	107							200	107	Pass
	Practicals	100	51	70	57	30	13			200	121	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	57	15	6	10	10	100	73	
GRAND TOTAL										1700	1044	Fail

Total Marks Scored (in words): ONE THOUSAND FORTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A047

Name Megha M

Campus ID 29604

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	145							200	145	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	136							200	136	Pass
	Practicals	100	91	60	57	30	20	10	10	200	178	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	73	70	60	30	15			200	148	
Rachana Sharira	Theory	200	112							200	112	Pass
	Practicals	100	59	70	54	30	16			200	129	
Samhita Adhyayan - I (Set-FC)	Theory	100	67							100	67	Pass
	Practicals			75	68	15	8	10	10	100	86	
GRAND TOTAL										1700	1211	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED ELEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A048

Name Mercy Renee Vedaarnet

Campus ID 32670

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	141							200	141	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	136							200	136	Pass
	Practicals	100	90	60	57	30	19	10	10	200	176	
Kriya Sharira	Theory	200	123							200	123	Pass
	Practicals	100	68	70	59	30	15			200	142	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	54	70	59	30	14			200	127	
Samhita Adhyayan - I (Set-FC)	Theory	100	60							100	60	Pass
	Practicals			75	70	15	8	10	10	100	88	
GRAND TOTAL										1700	1178	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A049

Name Mogare Aryan Nandu

Campus ID 29663

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	140							200	140	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	122							200	122	Pass
	Practicals	100	66	60	45	30	14	10	10	200	135	
Kriya Sharira	Theory	200	110							200	110	Pass
	Practicals	100	70	70	58	30	10			200	138	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	50	70	58	30	10			200	118	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	63	15	5	10	10	100	78	
GRAND TOTAL										1700	1064	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A050

Name Mohammed Faiez Javed Shaikh

Campus ID 33335

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	64	60	50	30	11	10	10	200	135	
Kriya Sharira	Theory	200	108							200	108	Pass
	Practicals	100	62	70	40	30	10			200	112	
Rachana Sharira	Theory	200	107							200	107	Pass
	Practicals	100	50	70	59	30	13			200	122	
Samhita Adhyayan - I (Set-FC)	Theory	100	59							100	59	Pass
	Practicals			75	62	15	4	10	10	100	76	
GRAND TOTAL										1700	1023	Second Class

Total Marks Scored (in words): ONE THOUSAND TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A051

Name Mohammed Shaheem

Campus ID 29483

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	125							200	125	Pass
			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	89							200	89	Fail
	100	64	60	38	30	13	10	10	200	125	
Kriya Sharira	200	100							200	100	Pass
	100	72	70	59	30	14			200	145	
Rachana Sharira	200	100							200	100	Pass
	100	56	70	52	30	13			200	121	
Samhita Adhyayan - I (Set-FC)	100	44							100	44	Fail
			75	50	15	4	10	10	100	64	
GRAND TOTAL									1700	977	Fail

Total Marks Scored (in words): NINE HUNDRED SEVENTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A052

Name Mohammed Suhail

Campus ID 33314

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	123							200	123	Pass
	Practicals			75	45	15	7	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	62	60	50	30	8	10	10	200	130	
Kriya Sharira	Theory	200	104							200	104	Pass
	Practicals	100	60	70	36	30	7			200	103	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	50	70	48	30	6			200	104	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	53	15	3	10	10	100	66	
GRAND TOTAL										1700	963	Second Class

Total Marks Scored (in words): NINE HUNDRED SIXTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A053

Name Mohd Rehan Fazal

Campus ID 29647

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	125							200	125	Pass
			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	90							200	90	Fail
	100	50	60	40	30	7	10	10	200	107	
Kriya Sharira	200	89							200	89	Fail
	100	58	70	35	30	8			200	101	
Rachana Sharira	200	100							200	100	Pass
	100	60	70	40	30	7			200	107	
Samhita Adhyayan - I (Set-FC)	100	52							100	52	Pass
			75	55	15	3	10	10	100	68	
GRAND TOTAL									1700	902	Fail

Total Marks Scored (in words): NINE HUNDRED TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A054

Name Moli Biswas

Campus ID 29659

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	135							200	135	Pass
			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	127							200	127	Pass
	100	68	60	55	30	13	10	10	200	146	
Kriya Sharira	200	117							200	117	Pass
	100	58	70	35	30	9			200	102	
Rachana Sharira	200	104							200	104	Pass
	100	50	70	42	30	12			200	104	
Samhita Adhyayan - I (Set-FC)	100	68							100	68	Pass
			75	62	15	5	10	10	100	77	
GRAND TOTAL									1700	1044	Second Class

Total Marks Scored (in words): ONE THOUSAND FORTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A055

Name Mujawar Saniya Najiruddin

Campus ID 29633

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	135							200	135	Pass
	Practicals	100	73	60	55	30	18	10	10	200	156	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	63	70	40	30	15			200	118	
Rachana Sharira	Theory	200	117							200	117	Pass
	Practicals	100	50	70	40	30	14			200	104	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	68	15	7	10	10	100	85	
GRAND TOTAL										1700	1105	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A056

Name Munde Payal Pandurang

Campus ID 33318

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	126							200	126	Pass
	Practicals			75	50	15	8	10	10	100	68	
Padartha Vijnanam (Set- FB)	Theory	200	122							200	122	Pass
	Practicals	100	73	60	55	30	10	10	10	200	148	
Kriya Sharira	Theory	200	105							200	105	Pass
	Practicals	100	60	70	36	30	9			200	105	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	55	70	38	30	7			200	100	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	67	15	5	10	10	100	82	
GRAND TOTAL										1700	1012	Second Class

Total Marks Scored (in words): ONE THOUSAND TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A057

Name Nafeesa Kouser

Campus ID 29674

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	128							200	128	Pass
			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	115							200	115	Pass
	100	60	60	50	30	12	10	10	200	132	
Kriya Sharira	200	100							200	100	Pass
	100	62	70	37	30	9			200	108	
Rachana Sharira	200	100							200	100	Pass
	100	52	70	39	30	9			200	100	
Samhita Adhyayan - I (Set-FC)	100	54							100	54	Pass
			75	66	15	5	10	10	100	81	
GRAND TOTAL									1700	981	Second Class

Total Marks Scored (in words): NINE HUNDRED EIGHTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A058

Name Nafeesath Shaima

Campus ID 29704

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	149							200	149	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	134							200	134	Pass
	Practicals	100	82	60	55	30	21	10	10	200	168	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	74	70	55	30	15			200	144	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	54	70	55	30	15			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	52							100	52	Pass
	Practicals			75	69	15	7	10	10	100	86	
GRAND TOTAL										1700	1159	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A059

Name Nandan V Bedre

Campus ID 29656

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	141							200	141	Pass
	Practicals			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	129							200	129	Pass
	Practicals	100	70	60	50	30	13	10	10	200	143	
Kriya Sharira	Theory	200	107							200	107	Pass
	Practicals	100	73	70	55	30	13			200	141	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	59	70	60	30	13			200	132	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	66	15	4	10	10	100	80	
GRAND TOTAL										1700	1108	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A060

Name Nishmitha K. Shetty

Campus ID 29702

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	150							200	150	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	141							200	141	Pass
	Practicals	100	83	60	50	30	16	10	10	200	159	
Kriya Sharira	Theory	200	123							200	123	Pass
	Practicals	100	60	70	35	30	16			200	111	
Rachana Sharira	Theory	200	108							200	108	Pass
	Practicals	100	52	70	40	30	13			200	105	
Samhita Adhyayan - I (Set-FC)	Theory	100	69							100	69	Pass
	Practicals			75	64	15	7	10	10	100	81	
GRAND TOTAL										1700	1117	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A061

Name Omkar Rajkumar Mane

Campus ID 29629

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	138							200	138	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	61	60	36	30	10	10	10	200	117	
Kriya Sharira	Theory	200	92							200	92	Fail
	Practicals	100	60	70	35	30	10			200	105	
Rachana Sharira	Theory	200	88							200	88	Fail
	Practicals	100	50	70	38	30	7			200	95	
Samhita Adhyayan - I (Set-FC)	Theory	100	44							100	44	Fail
	Practicals			75	55	15	3	10	10	100	68	
GRAND TOTAL										1700	910	Fail

Total Marks Scored (in words): NINE HUNDRED TEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A062

Name Pathan Mahin Tanzeen Khan

Campus ID 29582

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	142							200	142	Pass
	Practicals			75	45	15	10	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	65	60	40	30	12	10	10	200	127	
Kriya Sharira	Theory	200	101							200	101	Pass
	Practicals	100	63	70	37	30	13			200	113	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	52	70	49	30	12			200	113	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	67	15	5	10	10	100	82	
GRAND TOTAL										1700	1027	Second Class

Total Marks Scored (in words): ONE THOUSAND TWENTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A063

Name Pathan Mohammad Asadulla

Campus ID 29593

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	141							200	141	Pass
	Practicals			75	45	15	10	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	127							200	127	Pass
	Practicals	100	50	60	40	30	12	10	10	200	112	
Kriya Sharira	Theory	200	111							200	111	Pass
	Practicals	100	65	70	38	30	12			200	115	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	52	70	45	30	10			200	107	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	63	15	4	10	10	100	77	
GRAND TOTAL										1700	1012	Second Class

Total Marks Scored (in words): ONE THOUSAND TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A064

Name Patil Nishigandha Dipak

Campus ID 29651

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	150							200	150	Pass
	Practicals			75	70	15	12	10	10	100	92	
Padartha Vijnanam (Set- FB)	Theory	200	167							200	167	Pass
	Practicals	100	96	60	55	30	26	10	10	200	187	
Kriya Sharira	Theory	200	147							200	147	Pass
	Practicals	100	77	70	58	30	22			200	157	
Rachana Sharira	Theory	200	130							200	130	Pass
	Practicals	100	60	70	60	30	17			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	74							100	74	Pass
	Practicals			75	72	15	10	10	10	100	92	
GRAND TOTAL										1700	1333	Distinction

Total Marks Scored (in words): ONE THOUSAND THREE HUNDRED THIRTY-THRE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A065

Name Patil Riya Ajit

Campus ID 29636

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	142							200	142	Pass
	Practicals			75	50	15	11	10	10	100	71	
Padartha Vijnanam (Set- FB)	Theory	200	132							200	132	Pass
	Practicals	100	81	60	50	30	17	10	10	200	158	
Kriya Sharira	Theory	200	115							200	115	Pass
	Practicals	100	74	70	58	30	16			200	148	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	52	70	59	30	13			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	66							100	66	Pass
	Practicals			75	66	15	6	10	10	100	82	
GRAND TOTAL										1700	1143	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A066

Name Pranamy

Campus ID 29660

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	147							200	147	Pass
	Practicals			75	60	15	11	10	10	100	81	
Padartha Vijnanam (Set- FB)	Theory	200	147							200	147	Pass
	Practicals	100	88	60	55	30	21	10	10	200	174	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	73	70	58	30	18			200	149	
Rachana Sharira	Theory	200	122							200	122	Pass
	Practicals	100	55	70	57	30	15			200	127	
Samhita Adhyayan - I (Set-FC)	Theory	100	73							100	73	Pass
	Practicals			75	70	15	7	10	10	100	87	
GRAND TOTAL										1700	1237	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED THIRTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A067

Name Pratham Anand

Campus ID 32663

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	130							200	130	Pass
			75	45	15	7	10	10	100	62	
Padartha Vijnanam (Set- FB)	200	113							200	113	Pass
	100	62	60	48	30	10	10	10	200	130	
Kriya Sharira	200	94							200	94	Fail
	100	62	70	37	30	9			200	108	
Rachana Sharira	200	89							200	89	Fail
	100	50	70	40	30	7			200	97	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	65	15	4	10	10	100	79	
GRAND TOTAL									1700	952	Fail

Total Marks Scored (in words): NINE HUNDRED FIFTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A068

Name Rajan Kumar

Campus ID 29664

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	129							200	129	Pass
			75	45	15	7	10	10	100	62	
Padartha Vijnanam (Set- FB)	200	90							200	90	Fail
	100	55	60	41	30	5	10	10	200	111	
Kriya Sharira	200	67							200	67	Fail
	100	50	70	35	30	7			200	92	
Rachana Sharira	200	61							200	61	Fail
	100	50	70	37	30	7			200	94	
Samhita Adhyayan - I (Set-FC)	100	41							100	41	Fail
			75	63	15	3	10	10	100	76	
GRAND TOTAL									1700	823	Fail

Total Marks Scored (in words): EIGHT HUNDRED TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A069

Name Rasheena Fathima

Campus ID 29665

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	130							200	130	Pass
	100	75	75	55	15	10	10	10	100	75	
Padartha Vijnanam (Set- FB)	200	132							200	132	Pass
	100	93	60	57	30	17	10	10	200	177	
Kriya Sharira	200	122							200	122	Pass
	100	82	70	55	30	16			200	153	
Rachana Sharira	200	123							200	123	Pass
	100	57	70	45	30	15			200	117	
Samhita Adhyayan - I (Set-FC)	100	65							100	65	Pass
			75	68	15	6	10	10	100	84	
GRAND TOTAL									1700	1178	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A070

Name Reema Fathima

Campus ID 32678

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	139							200	139	Pass
	Practicals			75	50	15	11	10	10	100	71	
Padartha Vijnanam (Set- FB)	Theory	200	134							200	134	Pass
	Practicals	100	92	60	55	30	14	10	10	200	171	
Kriya Sharira	Theory	200	113							200	113	Pass
	Practicals	100	85	70	40	30	14			200	139	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	55	70	42	30	14			200	111	
Samhita Adhyayan - I (Set-FC)	Theory	100	59							100	59	Pass
	Practicals			75	64	15	5	10	10	100	79	
GRAND TOTAL										1700	1122	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A071

Name Rida Shaikh

Campus ID 29700

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	128							200	128	Pass
	Practicals			75	55	15	9	10	10	100	74	
Padartha Vijnanam (Set- FB)	Theory	200	131							200	131	Pass
	Practicals	100	86	60	56	30	14	10	10	200	166	
Kriya Sharira	Theory	200	92							200	92	Fail
	Practicals	100	70	70	50	30	13			200	133	
Rachana Sharira	Theory	200	88							200	88	Fail
	Practicals	100	58	70	43	30	10			200	111	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	65	15	5	10	10	100	80	
GRAND TOTAL										1700	1053	Fail

Total Marks Scored (in words): ONE THOUSAND FIFTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A072

Name Rubeena

Campus ID 29671

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	125							200	125	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	124							200	124	Pass
	Practicals	100	58	60	50	30	12	10	10	200	130	
Kriya Sharira	Theory	200	105							200	105	Pass
	Practicals	100	67	70	35	30	9			200	111	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	56	70	40	30	10			200	106	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	60	15	5	10	10	100	75	
GRAND TOTAL										1700	992	Second Class

Total Marks Scored (in words): NINE HUNDRED NINETY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A073

Name Satarmaker Muskan Altaf

Campus ID 32335

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	142							200	142	Pass
	Practicals			75	60	15	10	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	135							200	135	Pass
	Practicals	100	82	60	50	30	16	10	10	200	158	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	77	70	35	30	14			200	126	
Rachana Sharira	Theory	200	91							200	91	Fail
	Practicals	100	58	70	39	30	11			200	108	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	69	15	5	10	10	100	84	
GRAND TOTAL										1700	1074	Fail

Total Marks Scored (in words): ONE THOUSAND SEVENTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A074

Name Sayyed Fardin Kaisar

Campus ID 29683

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	136							200	136	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	110							200	110	Pass
	Practicals	100	50	60	50	30	12	10	10	200	122	
Kriya Sharira	Theory	200	104							200	104	Pass
	Practicals	100	63	70	35	30	7			200	105	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	55	70	40	30	7			200	102	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	62	15	3	10	10	100	75	
GRAND TOTAL										1700	978	Second Class

Total Marks Scored (in words): NINE HUNDRED SEVENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A075

Name Sayyed Maseera Hanif

Campus ID 32371

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	137							200	137	Pass
			75	50	15	7	10	10	100	67	
Padartha Vijnanam (Set- FB)	200	121							200	121	Pass
	100	91	60	48	30	14	10	10	200	163	
Kriya Sharira	200	101							200	101	Pass
	100	88	70	60	30	8			200	156	
Rachana Sharira	200	109							200	109	Pass
	100	58	70	45	30	10			200	113	
Samhita Adhyayan - I (Set-FC)	100	62							100	62	Pass
			75	68	15	5	10	10	100	83	
GRAND TOTAL									1700	1112	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A076

Name Shabnaz Fathima

Campus ID 32483

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
			75	50	15	8	10	10	100	68	
Padartha Vijnanam (Set- FB)	200	135							200	135	Pass
	100	78	60	52	30	10	10	10	200	150	
Kriya Sharira	200	107							200	107	Pass
	100	78	70	35	30	11			200	124	
Rachana Sharira	200	100							200	100	Pass
	100	59	70	39	30	9			200	107	
Samhita Adhyayan - I (Set-FC)	100	55							100	55	Pass
			75	64	15	5	10	10	100	79	
GRAND TOTAL									1700	1059	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A078

Name Shaikh Mohammed Nawaz Naim

Campus ID 32665

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	137							200	137	Pass
	Practicals			75	45	15	7	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	69	60	40	30	9	10	10	200	128	
Kriya Sharira	Theory	200	75							200	75	Fail
	Practicals	100	50	70	35	30	6			200	91	
Rachana Sharira	Theory	200	80							200	80	Fail
	Practicals	100	62	70	38	30	6			200	106	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	58	15	3	10	10	100	71	
GRAND TOTAL										1700	912	Fail

Total Marks Scored (in words): NINE HUNDRED TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A079

Name Shaikh Zaid Mujeeb

Campus ID 29686

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	129							200	129	Pass
	Practicals			75	45	15	8	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	78	60	40	30	7	10	10	200	135	
Kriya Sharira	Theory	200	110							200	110	Pass
	Practicals	100	73	70	35	30	9			200	117	
Rachana Sharira	Theory	200	113							200	113	Pass
	Practicals	100	56	70	45	30	7			200	108	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	63	15	2	10	10	100	75	
GRAND TOTAL										1700	1030	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A080

Name Shitole Parth Adik

Campus ID 29475

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	140							200	140	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	77	60	50	30	9	10	10	200	146	
Kriya Sharira	Theory	200	114							200	114	Pass
	Practicals	100	86	70	45	30	9			200	140	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	60	70	47	30	9			200	116	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	62	15	4	10	10	100	76	
GRAND TOTAL										1700	1071	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A081

Name Shravhya Bedre

Campus ID 29657

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	129							200	129	Pass
			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	104							200	104	Pass
	100	52	60	31	30	7	10	10	200	100	
Kriya Sharira	200	84							200	84	Fail
	100	78	70	35	30	9			200	122	
Rachana Sharira	200	93							200	93	Fail
	100	60	70	40	30	8			200	108	
Samhita Adhyayan - I (Set-FC)	100	53							100	53	Pass
			75	50	15	4	10	10	100	64	
GRAND TOTAL									1700	921	Fail

Total Marks Scored (in words): NINE HUNDRED TWENTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A082

Name Shurti Sardar Yadav

Campus ID 32653

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	128							200	128	Pass
	Practicals			75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	108							200	108	Pass
	Practicals	100	77	60	45	30	9	10	10	200	141	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	68	70	35	30	7			200	110	
Rachana Sharira	Theory	200	104							200	104	Fail
	Practicals	100	51	70	36	30	7			200	94	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	60	15	4	10	10	100	74	
GRAND TOTAL										1700	976	Fail

Total Marks Scored (in words): NINE HUNDRED SEVENTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A083

Name Siddhant Sunil Patil

Campus ID 32361

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
			75	45	15	6	10	10	100	61	
Padartha Vijnanam (Set- FB)	200	103							200	103	Pass
	100	53	60	32	30	7	10	10	200	102	
Kriya Sharira	200	103							200	103	Pass
	100	60	70	40	30	7			200	107	
Rachana Sharira	200	100							200	100	Pass
	100	57	70	38	30	5			200	100	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	50	15	4	10	10	100	64	
GRAND TOTAL									1700	924	Second Class

Total Marks Scored (in words): NINE HUNDRED TWENTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A084

Name Snehal H Disale

Campus ID 29493

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	145							200	145	Pass
			75	72	15	14	10	10	100	96	
Padartha Vijnanam (Set- FB)	200	155							200	155	Pass
	100	98	60	57	30	25	10	10	200	190	
Kriya Sharira	200	141							200	141	Pass
	100	92	70	60	30	23			200	175	
Rachana Sharira	200	123							200	123	Pass
	100	76	70	65	30	18			200	159	
Samhita Adhyayan - I (Set-FC)	100	74							100	74	Pass
			75	71	15	9	10	10	100	90	
GRAND TOTAL									1700	1348	Distinction

Total Marks Scored (in words): ONE THOUSAND THREE HUNDRED FORTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A085

Name Solkar Sadiya Riyaz

Campus ID 32413

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	143							200	143	Pass
	Practicals			75	60	15	11	10	10	100	81	
Padartha Vijnanam (Set- FB)	Theory	200	143							200	143	Pass
	Practicals	100	90	60	52	30	20	10	10	200	172	
Kriya Sharira	Theory	200	132							200	132	Pass
	Practicals	100	76	70	45	30	16			200	137	
Rachana Sharira	Theory	200	116							200	116	Pass
	Practicals	100	62	70	40	30	15			200	117	
Samhita Adhyayan - I (Set-FC)	Theory	100	66							100	66	Pass
	Practicals			75	70	15	9	10	10	100	89	
GRAND TOTAL										1700	1196	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED NINETY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A086

Name Sreya Satheesan

Campus ID 29476

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	142							200	142	Pass
	100	81	75	60	15	11	10	10	100	81	
Padartha Vijnanam (Set- FB)	200	151							200	151	Pass
	100	83	60	52	30	23	10	10	200	183	
Kriya Sharira	200	142							200	142	Pass
	100	67	70	60	30	17			200	167	
Rachana Sharira	200	118							200	118	Pass
	100	127	70	45	30	17			200	127	
Samhita Adhyayan - I (Set-FC)	100	66							100	66	Pass
		88	75	69	15	9	10	10	100	88	
GRAND TOTAL									1700	1265	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED SIXTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A087

Name Sujithra Jothipuram Padmanaban

Campus ID 33317

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	147							200	147	Pass
	Practicals			75	72	15	13	10	10	100	95	
Padartha Vijnanam (Set- FB)	Theory	200	149							200	149	Pass
	Practicals	100	94	60	57	30	26	10	10	200	187	
Kriya Sharira	Theory	200	149							200	149	Pass
	Practicals	100	98	70	70	30	23			200	191	
Rachana Sharira	Theory	200	135							200	135	Pass
	Practicals	100	75	70	67	30	20			200	162	
Samhita Adhyayan - I (Set-FC)	Theory	100	85							100	85	Pass
	Practicals			75	72	15	10	10	6	100	88	
GRAND TOTAL										1700	1388	Distinction

Total Marks Scored (in words): ONE THOUSAND THREE HUNDRED EIGHTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A088

Name Suryawanshi Nikhil Sudhakar

Campus ID 32685

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	144							200	144	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	140							200	140	Pass
	Practicals	100	69	60	50	30	15	10	10	200	144	
Kriya Sharira	Theory	200	120							200	120	Pass
	Practicals	100	69	70	35	30	13			200	117	
Rachana Sharira	Theory	200	102							200	102	Pass
	Practicals	100	59	70	45	30	11			200	115	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	68	15	6	10	10	100	84	
GRAND TOTAL										1700	1097	Second Class

Total Marks Scored (in words): ONE THOUSAND NINETY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A089

Name Sushmitha H G

Campus ID 29575

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	138							200	138	Pass
	Practicals			75	55	15	10	10	10	100	75	
Padartha Vijnanam (Set- FB)	Theory	200	135							200	135	Pass
	Practicals	100	79	60	52	30	15	10	10	200	156	
Kriya Sharira	Theory	200	116							200	116	Pass
	Practicals	100	79	70	50	30	15			200	144	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	55	70	43	30	13			200	111	
Samhita Adhyayan - I (Set-FC)	Theory	100	59							100	59	Pass
	Practicals			75	63	15	7	10	10	100	80	
GRAND TOTAL										1700	1118	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED EIGHTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A090

Name Suzna Zainaba Sadique

Campus ID 32136

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	55	15	9	10	10	100	74	
Padartha Vijnanam (Set- FB)	Theory	200	142							200	142	Pass
	Practicals	100	85	60	50	30	16	10	10	200	161	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	80	70	50	30	12			200	142	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	59	70	40	30	12			200	111	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	68	15	6	10	10	100	84	
GRAND TOTAL										1700	1131	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A091

Name Tasmiya Taskin Khan

Campus ID 29616

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	140							200	140	Pass
			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	200	108							200	108	Pass
	100	68	60	45	30	10	10	10	200	133	
Kriya Sharira	200	109							200	109	Pass
	100	80	70	35	30	11			200	126	
Rachana Sharira	200	100							200	100	Pass
	100	58	70	47	30	12			200	117	
Samhita Adhyayan - I (Set-FC)	100	56							100	56	Pass
			75	62	15	6	10	10	100	78	
GRAND TOTAL									1700	1037	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A092

Name Tawade Vedant Sunil

Campus ID 32658

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
	100	64	75	45	15	9	10	10	100	64	
Padartha Vijnanam (Set- FB)	200	111							200	111	Pass
	100	80	60	55	30	11	10	10	200	156	
Kriya Sharira	200	92							200	92	Fail
	100	68	70	40	30	11			200	119	
Rachana Sharira	200	100							200	100	Pass
	100	60	70	40	30	8			200	108	
Samhita Adhyayan - I (Set-FC)	100	55							100	55	Pass
			75	65	15	6	10	10	100	81	
GRAND TOTAL									1700	1020	Fail

Total Marks Scored (in words): ONE THOUSAND TWENTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A093

Name Thokala Niya

Campus ID 32446

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	127							200	127	Pass
	Practicals			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	129							200	129	Pass
	Practicals	100	74	60	52	30	16	10	10	200	152	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	78	70	35	30	11			200	124	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	60	70	40	30	9			200	109	
Samhita Adhyayan - I (Set-FC)	Theory	100	62							100	62	Pass
	Practicals			75	68	15	7	10	10	100	85	
GRAND TOTAL										1700	1066	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A094

Name U B Aysha Asna

Campus ID 29667

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	55	15	10	10	10	100	75	
Padartha Vijnanam (Set- FB)	Theory	200	142							200	142	Pass
	Practicals	100	91	60	55	30	15	10	10	200	171	
Kriya Sharira	Theory	200	117							200	117	Pass
	Practicals	100	74	70	40	30	15			200	129	
Rachana Sharira	Theory	200	108							200	108	Pass
	Practicals	100	60	70	42	30	12			200	114	
Samhita Adhyayan - I (Set-FC)	Theory	100	63							100	63	Pass
	Practicals			75	62	15	6	10	10	100	78	
GRAND TOTAL										1700	1130	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A095

Name Gharat Urvi Dhananjay

Campus ID 29554

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	137							200	137	Pass
	Practicals			75	65	15	10	10		100	75	
Padartha Vijnanam (Set- FB)	Theory	200	129							200	129	Pass
	Practicals	100	83	60	56	30	18	10		200	157	
Kriya Sharira	Theory	200	124							200	124	Pass
	Practicals	100	83	70	40	30	16			200	139	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	60	70	43	30	13			200	116	
Samhita Adhyayan - I (Set-FC)	Theory	100	70							100	70	Pass
	Practicals			75	68	15	7	10		100	75	
GRAND TOTAL										1700	1132	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A096

Name Vidyalaxmi S. Shettigar

Campus ID 29654

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	143							200	143	Pass
	Practicals			75	60	15	11	10	10	100	81	
Padartha Vijnanam (Set- FB)	Theory	200	146							200	146	Pass
	Practicals	100	95	60	57	30	20	10	10	200	182	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	91	70	40	30	17			200	148	
Rachana Sharira	Theory	200	112							200	112	Pass
	Practicals	100	65	70	42	30	14			200	121	
Samhita Adhyayan - I (Set-FC)	Theory	100	67							100	67	Pass
	Practicals			75	67	15	7	10	10	100	84	
GRAND TOTAL										1700	1206	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A097

Name Vinit Samagandi

Campus ID 29640

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	200	132							200	132	Pass
	100	73	60	50	30	13	10	10	200	146	
Kriya Sharira	200	107							200	107	Pass
	100	78	70	35	30	11			200	124	
Rachana Sharira	200	102							200	102	Pass
	100	60	70	42	30	10			200	112	
Samhita Adhyayan - I (Set-FC)	100	53							100	53	Pass
			75	60	15	5	10	10	100	75	
GRAND TOTAL									1700	1055	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A098

Name Wayal Nilesh Samadhan

Campus ID 33340

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	142							200	142	Pass
			75	50	15	9	10	10	100	69	
Padartha Vijnanam (Set- FB)	200	150							200	150	Pass
	100	85	60	52	30	16	10	10	200	163	
Kriya Sharira	200	118							200	118	Pass
	100	74	70	40	30	11			200	125	
Rachana Sharira	200	120							200	120	Pass
	100	59	70	40	30	11			200	110	
Samhita Adhyayan - I (Set-FC)	100	63							100	63	Pass
			75	67	15	7	10	10	100	84	
GRAND TOTAL									1700	1144	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A099

Name Yadav Aditya Nanasaheb

Campus ID 29560

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	143							200	143	Pass
			75	50	15	8	10	10	100	68	
Padartha Vijnanam (Set- FB)	200	126							200	126	Pass
	100	79	60	55	30	12	10	10	200	156	
Kriya Sharira	200	108							200	108	Pass
	100	78	70	35	30	10			200	123	
Rachana Sharira	200	105							200	105	Pass
	100	58	70	40	30	10			200	108	
Samhita Adhyayan - I (Set-FC)	100	57							100	57	Pass
			75	63	15	5	10	10	100	78	
GRAND TOTAL									1700	1072	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - March 2025

20/03/2025 - 31/03/2025

Roll Number: 23A100

Name Zainab Subhan Shaikh

Campus ID 32295

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	137							200	137	Pass
	Practicals			75	50	15	10	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	74	60	57	30	14	10	10	200	155	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	83	70	40	30	10			200	133	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	62	70	41	30	12			200	115	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	58	15	5	10	10	100	73	
GRAND TOTAL										1700	1052	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital